x1(t) = —((0.06 * 21 (¢) * (1 — exp(d * x5(t)))) — (0.05 * x5(¢) * (exp(d * x5(t)))))—
—((0.5 % 21 (t) * (exp(d * x5(t))) * (0.3 4+ x6(t))) * AE — (0.1 % z2(t) * (1 — exp((d x5 (1)))));
1)

x2(t) = (((0.5 % z1(t) * (exp(d * z5(t))) * (0.3 + x6(t))) * AE—
—(0.1 % 22(t) * (1 — exp(d * 25(t))))) + (0.8 x 23(t) * (exp(d * w5(t))) * (0.3 + 26(t))—

—(0-4 5 2(t) * (1 — exp(d + 25())*)))) — (w2(t) * (26(t) —124(;))));
2

x3(t) = ((0.06 * z1(t) * (1 — exp(d * x5(¢)))) — (0.05 * x3(t) * (exp(d * x5(t)))))—
2

—(0.8 % w3(t) * (exp(d  x5(t))) * (0.3 4 w6(t)) — (0.4 z2(t) * (1 — exp(d * x5(£))?))));
3)

z4(t) = (z2(t) * (6(t) — 24(1))); (4)

if((x5(t)/LCC) < 1) — — —a5(t) = 25(t) * (GU — (x5(t)/LCC));

else — — — x5(t) = a5(t) * (1 — (x5(t)/LCC)); ©®

26(t) = 0.2 % ((x2(t-5) + 0.5 x 24 (t-5)) * (exp(d * x5(1-5)))) * (1 — x6(t)) * (1 — x7(t)) * AE—
—((0.14+ 1 —exp(d*x5(t))) * (0.1 + z7(¢)) * x6(t) x 0.2)
(6)

27(t) = (w6 (t-10) x (exp(d * x5 (t-10))))) x (1 — x7(t)) x 0.1 x AE — (x7(t) * O.(O(;5)
7



